BUSINESS MATHEMATICS

Assignment 3 – Supplementary Worksheet
I.  Determine which of the following is/is not a proportion
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II.  Find the missing number in the proportion
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III.  Additional problems

(1)  If two loaves of bread cost $0.68, how much would it cost for 13 loaves of bread?

(2)  If a store runs a special of two CD's for $19.98, how much for 7 CD's ?

(3)  Suppose that a study concludes that two out of five people smoke, how many smokers would you expect to find in a small town of 1250 people?

See the inside back cover of the text for conversion factors
(4)  If one inch is 2.54 centimeters, how many inches in 30.48 centimeters?

(5)  If one mile is 1760 yards, how many meters in a mile?

(6)  A 3 liter bottle of Pepsi has how many quarts?

(7)  Convert your answer to (6) to ounces.

(8)  How many feet in one kilometer?

 (9)  A Weiner schnitzel dinner for four people in Vienna, Austria cost 54 euros.  How much would that dinner be in U.S. dollars?

(10)  A Camry cost $19,571.00 in U.S. dollars, how much would the car cost in Australian dollars?

(11)  A traveler has $2,000 in U.S. dollars and wants to convert these to British pounds.  How many pounds will the person receive?

(12)  Jim won 2,500 Canadian dollars in a slot machine in Niagara Falls, Ontario.  How much would this be in U.S. dollars?
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